
cap.	
  10	
  –	
  Bruice	
  
(note)	
  

ossidazione	
  degli	
  alcoli	
  (meccanismo	
  spiegato	
  a	
  lezione)	
  
sos2tuzione	
  nucleofila	
  degli	
  eteri	
  

sos2tuzione	
  nucleofila	
  degli	
  epossidi	
  
ammine	
  e	
  sos2tuzione	
  nucleofila	
  

eliminazione	
  di	
  Hoffmann	
  
	
  



Ossidazione di alcoli 



come si può fare? 



ossidazione di alcoli 



sos2tuzione	
  nucleofila	
  degli	
  eteri	
  

l’a9vazione	
  dell’ossigeno	
  dell’etere	
  richiede	
  la	
  protonazione	
  

se	
  il	
  carboca2one	
  è	
  stabile	
  il	
  meccanismo	
  è	
  di	
  2po	
  SN1	
  



se	
  il	
  carboca2one	
  risulta	
  instabile	
  ha	
  luogo	
  una	
  reazione	
  SN2	
  

l’aBacco	
  nucleofilo	
  si	
  indirizzerà	
  all’atomo	
  di	
  C	
  più	
  susce9bile	
  



Oltre	
  agli	
  acidi	
  pro2ci	
  per	
  la	
  fuoriuscita	
  di	
  atomi	
  di	
  ossigeno	
  funzionano	
  bene	
  
anche	
  gli	
  acidi	
  di	
  Lewis	
  

gli	
  epossidi	
  sono	
  eteri	
  ciclici	
  che	
  reagiscono	
  nella	
  sos2tuzione	
  nucleofila	
  
anche	
  senza	
  acidi	
  o	
  acidi	
  di	
  Lewis	
  



apertura	
  degli	
  epossidi	
  con	
  le	
  ammine	
  

esempio	
  



apertura	
  di	
  un	
  epossido	
  in	
  condizioni	
  acide	
  

apertura	
  di	
  un	
  epossido	
  non	
  simmetrico	
  in	
  condizioni	
  acide	
  



ammine	
  e	
  sos2tuzione	
  nucleofila	
  

•  NH2
−	
  base	
  molto	
  forte	
  

•  pKa	
  di	
  uno	
  ione	
  ossonio	
  ≈	
  -­‐2	
  
•  pKa	
  di	
  uno	
  ione	
  ammonio	
  ≈	
  10	
  

le	
   ammine	
   non	
   subiscono	
   reazioni	
   di	
  
sos@tuzione	
  nucleofila	
  o	
  di	
  eliminazione	
  

	
  



ioni	
  ammonio	
  quaternari	
  

eliminazione	
  di	
  Hofmann	
  



nella	
  eliminazione	
  di	
  Hofmann	
  il	
  protone	
  viene	
  rimosso	
  dal	
  
carbonio	
  β	
  legato	
  al	
  maggior	
  numero	
  di	
  atomi	
  di	
  idrogeno	
  


